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Counting vertices on 2D shapes
0 Votch the shapes to the number of vertices.
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© Complete the table.

Shape Number of vertices
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©) Complete the sentences with the words below.
Use each word once.
square pentagon hexagon triangle rectangle
A has five vertices and five sides.

A shape with four vertices could be a
ora_____

A has fewer vertices than a square.

Every shape with six vertices is called a
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This shape has four
vertices because it
touches four dots.

Explain Toby's mistake.
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Draw two different shapes with four vertices.

Draw two different shapes with five vertices.
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Explain what is the same
and what is different.

It's easy to count the
vertices on shape A.
1t's harder to count the
vertices on shape B.

Think about where
the vertices are.
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